Motala Bridgeallians

Motalaserien - rond 3, halvlek 2

IMP over faltet, 18 bord, 32 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 206 4.01 Lennart Johansson - Joakim Johansson 20178 68245
2 103 2.87 Berit Andersson - Jan-Olof Carlson 51351 38606
3 7 2.32 Iréne Carlsson - Christina Persson 43498 54792
4 308 1.84 Rolf Kling - Birger Andersson 82510 44025
5 201 1.60 Per-Inge Helmertz - Staffan Rockler 1322 20114
6 2 1.34 Erik Norrbrink - Roger Norrbrink 87655 87654
7 205 1.33 Bjorn Jonsson - Lotta Sjostrom 31349 13794
8 105 1.31 Violette Olsson - Annika Ohlin 45751 86576
9 101 1.28 Lars-Eije Svensson - Bosse Johansson 14309 20119
10 208 1.15 Berit Bjork - Harriet Selg 38519 41186
11 304 0.56 Lars Forsberg - Ake Lindblad 9726 87652
12 107 0.51 Lennart Tillgren - Thomas Folkesson 201414 201415
13 106 0.37 Sven-Peter Johansson - Alf Thorell 26270 4151
14 102 0.30 Peter Hansson - Christer Pettersson 1344 12651
15 3 0.27 Borje Allard - Nina Allard 82452 82451
16 204 0.09 Torbjorn Forsén - Dag Johansson 88512 88495
17 4 -0.09 Kjell Abrahamsson - Birgitta Abrahamsson 87408 81435
18 203 -0.27 Stefan Skoog - Sten-Erik Adolfsson 9800 92204
19 302 -0.30 Hans Olsson - Annelie Kaberg 3183 92626
20 306 -0.37 Anita Egir - Birgitta Corell 31989 40486
21 307 -0.51 Birgit Hedstrom - Ulla Samuelsson 65249 49327
22 104 -0.56 Leif Hugo - Eva Fremner 13589 56334
23 8 -1.15 Roland Chorell - Olov Carlsson 44020 43496
24 301 -1.28 Leif Lyngmo - Johan Johansson 85153 83995
25 305 -1.31 Lennart Josefsson - Monika Oskarsson Birger 92675 54582
26 5 -1.33 Arne Friberg - Christer Angantyr 87627 31027
27 202 -1.34 Peter Oster - Christer Samuelsson 60433 12060
28 1 -1.60 P-G Igelstrom - Klas Eriksson 1391 1254
29 108 -1.84 Tonny Vreeswijk - Jenny Bennysdotter 200322 200323
30 207 -2.32 Jan-Anders Gredeskog - Anders Aberg 201422 201416
31 303 -2.87 Birgitta Wirén - Brittinger Oscarson 17568 20515
32 6 -4.01 Goran Klaesson - Erling Ludén 46867 65304
13 4 Kn74 Basta kontrakt 14 4 D1064 Bésta kontrakt 15 s E Bésta kontrakt
Nord vD54 3v O =-140 Ost v EK7 2v S =110 Syd vEKD10 54 S =600
Alla + D6543 Ingen *7 NS + D1062
*62 & ¢ v & NT #Kn9863 & ¢ v & NT #K1097 & ¢ v & NT
4KD108 4962 N58 443 4 Kn953 & EK7 N8 7 876 4 D87 4 K10963 N 118 8 7 7
vEKn876 vK32 S 58454 v 863 v D52 S 87876 vKn753 v842 S 118 8 7 7
+ 102 + K9 0859 88 ¢ DKn8 ¢ 10965 O56 466 ¢ KKn93 ¢ 874 02546 4
83 #EKn975 V748285 «D72 *E54 V5645686 «D5 #EKn V25464
4 E53 482 & Kn542
v 109 vKn1094 v 96
¢ EKn87 + EK432 ¢ E5
«KD104 #K10 #86432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut  Res Poang
1201 4vV-2 &4 200 83.0 -83.0(102 302 2v S+1 44 140 50.0 -50.0| 3 203 24DO-2 ¢A 300 81.0 -81.0
103 303 4¢ S= v8 130 59.0 -59.0 (106 306 2v S+1 ¢J 140 50.0 -50.0 (102 302 24D O-2 v9 300 81.0 -81.0
107 307 2¢ S+1 vA 110 47.0 -47.0| 5205 24 V-2 ¢7 100 350 -350| 2202 2NN+2 8 180 37.0 -37.0
4 204 3v V-1 ¢4 100 430 -430( 7 207 2¢DO-1 v9 100 35.0 -35.0(106 306 1# N+4 &T 150 220 -22.0
5205 3v V-1 &6 100 43.0 -43.0(105 305 INV-2 &8 100 350 -350| 1201 44N= 49 130 13.0 -13.0
7 207 2¢ N= &9 90 42.0 -42.0 (107 307 14 O-2 3 100 35.0 -35.0(101 301 14 N+3 ¢8 130 13.0 -13.0
8 208 2¢ N= vK 90 420 -420| 4 204 INS= v6 90 28.0 -28.0(104 304 24 N+2 v2 130 13.0 -13.0
101 301 1#S= 4K 70 29.0 -29.0| 2202 INO-1 3 50 10.0 -10.0| 8 208 3« N= 46 110 20 -20
102 302 2v V= &6 -110 -38.0 38.0(101 301 INO-1 +2 50 10.0 -10.0|105 305 1v N+1 49 110 20 -2.0
105 305 2v V= &6 -110 -38.0 38.0(103 303 INO-1 vJ 50 10.0 -10.0 {107 307 1v N+1 46 110 20 -20
2202 3y V= 3 -140 -52.0 520| 8 208 2v S-1 8 -50 -31.0 31.0| 5205 24 O-2 v¥6 100 1.0 -10
3203 3y V= 4J -140 -520 520( 1201 INO= vJ 90 -48.0 48.0( 7 207 1y N= 4T 80 -11.0 110
6 206 3vy V= &6 -140 -52.0 52.0(108 308 INV= vA -90 -480 48.0(108 308 INV-1 vA 50 -220 220
104 304 3vV= #6 -140 -52.0 52.0|104 304 24 N-2 4K -100 -49.0 49.0| 4 204 3NN-1 vQ -100 -78.0 78.0
106 306 3vy V= ¢3 -140 -52.0 52.0| 3 203 INO+1 2 -120 -61.0 61.0( 6 206 3vN-1 ¥2 -100 -780 78.0
108 308 1v V+2 ¢6 -140 -52.0 52.0| 6 206 INO+1 ¢A -120 -61.0 61.0|103 303 3NN-1 49 -100 -78.0 78.0
16 4 ED10872 Basta kontrakt 17 4 D432 Basta kontrakt 18 4 D82 Basta kontrakt
Vast v95 34 N =140 Nord v D87 6¢ N =920 Ost v K43 4¢ O D -3500
oV + D64 Ingen + DKn32 NS + Kn65
«Kn4 & ¢ v & NT #Kn5 & ¢ v & NT #K953 & ¢ v & NT
46 49543 N56 398 4 K109 4Kn765 N 9 127 9 10 4 KKn10 4975 N 106 7 9 9
vKDKn1087 v42 S56 3938 v943 vKnl0652 S 9 127 9 10 v10865 vKn92 S 106 7 9 8
¢ Kn1095 + K8 077945 ¢765 ¢10 031532 ¢+ D9843 ¢ K102 0376 44
*E6 #KD1082 V77945 #KD86 #1094 V31532 #Kn *E842 V37644
& KKn +~E8 ~ E643
vE63 vEK vED7
¢ E732 + EK984 ¢ E7
#9753 #E732 #D1076
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 207 34 N= &T 140 770 -77.0| 3 203 64 N= vJ 920 159.0 -159.0| 7 207 3NS+1 T 630 149.0 -149.0
101 301 24 N+1 v4 140 77.0 -77.0|103 303 4NS+2 &8 490 25.0 -25.0(107 307 3NS+1 3 630 149.0 -149.0
105 305 44 V-1 «A 100 640 -640| 1201 3NS+2 ¥3 460 11.0 -11.0(103 303 3NS= ¢8 600 140.0 -140.0
106 306 4v V-1 #J 100 640 -640| 4 204 3NS+2 &6 460 11.0 -11.0| 8 208 2NS+2 +4 180 26.0 -26.0
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2 202 34S-1 ¥3 -50 6.0 -6.0| 6206 3NS+2 #8 460 110 -11.0f 3 203 INN+2 ¥2 150 120 -12.0
3 203 34 N-1 v4 -50 6.0 -6.0(102 302 3NS+2 &K 460 110 -11.0( 1201 2NS= 3 120 3.0 -3.0
8 208 34 N-1 v4 -50 6.0 -6.0[105 305 3NN+2 v2 460 11.0 -11.0| 6 206 2NS= +3 120 3.0 -30
104 304 34 N-1 v4 -50 6.0 -6.0(106 306 3NS+2 &6 460 11.0 -11.0 {102 302 INS+1 ¢4 120 3.0 -3.0
107 307 34 N-1 v2 -50 6.0 -6.0(101 301 3NN+1 ¥5 430 -4.0 4.0 ({104 304 INS+1 ¢4 120 3.0 -3.0
1201 44 N-2 v4 -100 -19.0 19.0|104 304 3NN+1 ¥5 430 -4.0 4.0|105 305 2NS= +3 120 3.0 -30
5205 34 N-2 v4 -100 -19.0 19.0| 2 202 5¢ S+1 #T 420 -5.0 50| 2202 3NS-1 43 -100 -76.0 76.0
102 302 44 N-2 ¥4 -100 -19.0 19.0( 5 205 3NS= «K 400 -19.0 19.0| 4 204 3NS-1 ¢4 -100 -76.0 76.0
103 303 34 N-2 v4 -100 -19.0 19.0| 7 207 5¢ N= v2 400 -190 190| 5205 2NS-1 ¢4 -100 -76.0 76.0
4 204 3y V+1 #4A -170 -43.0 43.0(107 307 3NS= #6 400 -19.0 19.0|101 301 3NS-1 ¢4 -100 -76.0 76.0
108 308 1v V+3 #4A -170 -43.0 43.0(108 308 5¢ N= T 400 -19.0 19.0|106 306 3NS-1 ¢3 -100 -76.0 76.0
6 206 44DN-3 v4 -500 -150.0 150.0( 8 208 5¢ N-1 vJ -50 -161.0 161.0(108 308 3NS-2 ¢8 -200 -111.0 1110
19 4 K102 Basta kontrakt 20 & E432 Basta kontrakt 21 453 Basta kontrakt
Syd v5 64 V D -2 500 Vést v 632 3v V =-140 Nord v5 5NT O =-460
ov ¢ KKn32 Alla ¢ Kn832 NS ¢ EKn108542
#EKn962 & ¢ v &4 NT #Kn9 % ¢ v & NT «D73 % ¢ v &4 NT
4983 4EDKN7654 N 12123 3 11 & K95 4 Kn1076 N9 7 4 4 4 | aE42 41086 N2 7162
vD10763 vEKn82 S 12113 2 10 vKKn1097 vED4 S 97 444 vKn1087632 vEK4 S27162
*7 ¢85 O11 8 102 ¢ 10974 465 045986 ¢- ¢+ KD9 O 106 117 11
#D1075 #- V118102 *4 #E763 V45986 #EK8 #Kn965 VvV 106 117 11
a- «D8 & KDKn97
v K94 v 85 v D9
¢ ED10964 ¢ EKD ¢ 763
#K843 #KD10852 #1042
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 64 N+1 &A 940 176.0 -176.0| 4 204 3#S+1 vJ 130 66.0 -66.0(103 303 3v V+1 ¢A -170 121.0 -121.0
103 303 54D N +2 4A 750 132.0 -132.0| 8 208 3#S+1 vJ 130 66.0 -66.0| 2 202 4vV= a5 -420 45.0 -45.0
101 301 44DN+2 ¢7 710 123.0 -123.0 {104 304 2# S+2 vJ 130 66.0 -66.0| 7 207 4v V= 43 -420 450 -45.0
102 302 54 N+2 4A 440 43.0 -43.0| 7 207 2#S+1 v9 110 52.0 -52.0(102 302 4y V= 45 -420 45.0 -45.0
4 204 3NN+1 4J 430 39.0 -39.0(103 303 1¢ S+2 &4 110 52.0 -52.0|104 304 4v V= 45 -420 45.0 -45.0
7 207 5 N+1 &7 420 38.0 -38.0(106 306 3¢ N= vA 110 52.0 -52.0| 3 203 4v V+2 A -480 20.0 -20.0
104 304 5¢ S+1 43 420 38.0 -38.0(107 307 2# S+1 45 110 52.0 -52.0| 4 204 4vV+2 ¢A -480 20.0 -20.0
1201 54 N= +8 400 30.0 -30.0(101 301 24 O-1 +¢A 100 52.0 -52.0| 5 205 4v V+2 ¢A -480 20.0 -20.0
3 203 5¢ S= 49 400 30.0 -30.0| 1201 2vV+l &J -140 -41.0 41.0|( 8 208 4y V+2 +¢A -480 20.0 -20.0
105 305 5¢ S= 43 400 300 -30.0| 2202 3vV= &J -140 -410 41.0({101 301 4y V+2 +A -480 20.0 -20.0
106 306 54 O-2 #3 200 -31.0 31.0|105 305 3vy V= &9 -140 -41.0 41.0(105 305 4y V+2 +A -480 20.0 -20.0
108 308 4¢ S+2 48 170 -39.0 390| 5205 3vV+l #J -170 -53.0 53.0(106 306 4v V+2 A -480 20.0 -20.0
6 206 5v O-1 +A 100 -59.0 59.0| 6206 2vV+2 #J -170 -53.0 53.0(108 308 4v V+2 A -480 20.0 -20.0
107 307 5#DS-3 43 -500 -174.0 174.0 102 302 24 N-2 46 -200 -640 64.0| 6 206 6vV= A -980 -139.0 139.0
5205 44 O= ¢A -620 -188.0 188.0 (108 308 14 N-2 vA -200 -640 64.0| 1 201 5¢DN-4 vA -1100 -161.0 161.0
8 208 44 O= #3 -620 -188.0 188.0| 3 203 24 N-3 vA -300 -101.0 101.0|107 307 4¢DN-4 vA -1100 -161.0 161.0
22 4 Kn85 Basta kontrakt 23 4 E863 Basta kontrakt 24 & K532 Basta kontrakt
Ost v107 4¢ S =130 Syd v 96 5v V =-650 Vést v K874 4%V =-130
ov ¢ EK9843 Alla ¢E3 Ingen ¢ E92
*76 & ¢ v & NT »D8732 & ¢ v &4 NT *97 % ¢ v &4 NT
4D1097 & EK432 N 8 103 4 7 4 Kn9 & K1042 N7 2252 4Knl084 4E76 N3 77654
v9864 vEDKn2 S 8 103 4 7 vEK1087 v532 S72252 v2 v DKn63 S37 7654
¢Knl0 ¢2 053996 ¢ KD1062 ¢ Kn75 O 6 11118 10 ¢+ KKnl0 ¢76 O 106 6 8 8
«D83 #K102 V43996 *K #E95 vV 6 11118 10 #KKn543 #ED108 V 106 6 8 8
46 4 D75 4 D9
v K53 v DKn4 v E1095
+ D765 +984 + D8543
#EKn954 #Kn1064 #62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
103 303 54 O-1 5 100 136.0 -136.0| 8 208 1v V+1 ¢A -110 119.0 -119.0(105 305 3#V-1 42 50 71.0 -71.0
105 305 54 O-1 #A 100 136.0 -136.0 |108 308 3¢ V+1 &8 -130 106.0 -106.0 |108 308 3¢ S-1 &3 -50 30.0 -30.0
106 306 34 O= ¢5 -140 70.0 -70.0| 7 207 2¢ V+3 #2 -150 104.0 -104.0| 5 205 2v N-2 46 -100 10.0 -10.0
2 202 24 O+2 ¢6 -170 63.0 -63.0| 5205 3vV+l &2 -170 97.0 -970| 6 206 1la V+1 &9 -110 50 -5.0
4 204 34 O+1 ¢5 -170 63.0 -63.0(107 307 1v V+3 ¢A -170 97.0 -97.0|103 303 INO+1 4Q -120 -3.0 3.0
101 301 34 O+1 ¢6 -170 63.0 -63.0| 2 202 3vV+2 ¢A -200 83.0 -83.0| 2202 2#V+2 97 -130 -5.0 5.0
107 307 34 O+1 #4 -170 63.0 -63.0| 1201 4vV= &2 -620 -580 58.0| 3203 2#40+2 v9 -130 -5.0 5.0
3 203 66DN-2 A -300 180 -18.0( 3 203 4vV= v9 -620 -580 580 7 207 2#0+2 &6 -130 -5.0 5.0
102 302 6¢DN-2 vA -300 18.0 -180| 6 206 4v V= ¢A -620 -58.0 58.0|104 304 2#V+2 42 -130 -5.0 5.0
1201 49 0= +6 -620 -90.0 90.0|101 301 4v V= &2 -620 -58.0 58.0|106 306 3#O+1 ¢4 -130 -5.0 5.0
5205 44 O= &A -620 -90.0 90.0(102 302 4v V= ¢A -620 -58.0 58.0|107 307 2# O+2 ¥5 -130 -5.0 5.0
6 206 44 O= &A -620 -90.0 90.0(103 303 4v V= ¢A -620 -580 580| 1201 1lsaV+2 #9 -140 -11.0 11.0
7 207 44 O= A -620 -90.0 90.0(105 305 4vV= +¢A -620 -580 580| 4204 INO+2 ¥5 -150 -18.0 18.0
8 208 44 O= &A -620 -90.0 90.0(106 306 4v V= #3 -620 -580 580| 8 208 INV+2 43 -150 -18.0 18.0
104 304 44 O= #A -620 -90.0 90.0| 4 204 4vV+1l ¢A -650 -71.0 71.0|101 301 INO+2 v5 -150 -18.0 18.0
44 O= ¢7 -620 -90.0 90.0 4v V+1 #3 -650 -71.0 71.0 INO+2 ¥4 -150 -18.0 18.0
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